2-1. 2IMIZ2 o2

B =i 2= 2,980 (113 2=LiH| 9.2% 7}, = SCiH| A14.4% L2)
- Auks| A= 2577902 Adx G| 13.4% 571 S H] A 12.9% HAa
- 5HIAE 4039 de® ddE G2 A11.7% T4, HE Y] A23.2% A
(chel : wiokel %)
20134 SLE(%)
T 2 20143
= x5 = SEXETEEE ]
EAAR 297,974  H|8 | 272,963 H|8 | 348,195 H|8 9.2 | A14.4
2 " 3 A 257,717 86.5 227,351 | 83.3 295,774 849 13.4 A129
£ & 3 A 40,257 | 13.5 45,612 16.7 52,421 151 A11.7 | A23.2
71 EHEE 3 29,222 9.8 33,623 | 12.3 33,460 | 9.6 | A13.1 A12.7
F714E5E 3 A 11,035 | 3.7 11,989 | 4.4 18,961 | 5.4 A80 | ~A41.8
H T oA E F0l
(SRR
10,000
8,000 -
6,000 -
2,933 2,975 ik 2,980
| 2,601 ’ ) (17.0%1) ’
4,000 2,946 (A11.70) (12.8%1) (1.4%1) (A14.4%1)
2009 2010 2011 2012 2013 2014
% 2009~2013E 2 2| Boj ot 7| &= (MAiE] S&4E)
B = MEXE LT
100.0
80.0 -
60.0 -
40.0 -
20.0 - 11.3% 12.5% 13.9% 13.1% 11.1% 7 4%
2009 2010 2011 2012 2013 2014
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2-1. 2IMIZ o2l

W MQ-ME ol M E (LEH+EHE)
(chel - wigkel %)
EE= 8%
T 2 201449 % o = 20134 g = S cys ’il/;tw
Al 297,974 H|8 272,963 H|S 348,195 @ H|8 9.2 Al14.4
Xoog A 10,840 3.6 10,086 3.7 11,109 3.2 7.5 N2.4
Mool = ¢ 15,343 5.1 46,994 17.2 75,903  21.8 | A67.4 | A79.8
R R R 12,762 4.3 13,468 4.9 17,745 5.1 A5.2 N28.1
A LA A A 2] 2,581 0.9 33,526 12.3 58,158 = 16.7 = A92.3 | 2956
X g m 5 A 154,228 | 51.8 142,900  52.4 172,506 | 49.5 79 | A10.6
, MEENS 3,000 1.0 3,000 1.1 3,870 1.1 0.0 | a225
2
2 = 2 77,064 25.9 69,983 25.6 81,807 23.5 10.1 A5.8
EaRA it 65,459 22.0 59,665 @ 21.9 66,328 @ 19.0 9.7 A3
TH B 11,605 3.9 10,318 3.8 15,479 4.4 0.0 0.0
X g M S = = = = 3,000 0.9 | #DIV/O! - 100
Lol == R 5 37,499 126 - - - - | #DIV/0O! | #DIv/0!
Ytz 15,509 5.2 14,996 5.5 27,761 8.0 3.4 N44 A
SSE MY ot 3,582 1.2 3,283 1.2 4,249 1.2 9.1 N~15.7
ns 9,265 3.1 9,653 3.5 10,425 3.0 A40 | A11A
25tgl gtz 27,687 9.3 29,173 | 10.7 39,052  11.2 A5.1 A29.1
SHRS 42,586 14.3 51,144 @ 18.7 61,057 | 175  A16.7 = A30.3
71 AtEISX| 38,140 | 12.8 35,298 | 12.9 39,138 | 11.2 8.1 N2.5
L =A 3,524 1.2 3,288 1.2 3,579 1.0 7.2 A5
s S 2ol 2kt 47,637 16.0 39,913  14.6 52,270 | 15.0 19.4 N8.9
2 MeEATY 9,037 3.0 8,007 2.9 9,206 2.7 12.9 2.8
Al +&53ns 8,074 2.7 10,277 3.8 18,385 5.3 A21.4 | A56.1
TEYX| A7HL 44,409 14.9 29,659 = 10.9 44,866 12.9 0.0 0.0
- s s - - - - - - #DIV/0!  #DIV/0!
= of| e 10,920 3.7 2,035 0.7 950 0.3 436.6 | 1,049.5
7| Ef 37,604 126 36,237 13.3 37,167 10.7 3.8 1.2
Q1 Z4H| 34,601 11.6 33,780 12.4 34,837  10.0 2.4 NO.7
=pal] 21,649 7.3 19,344 7.1 21,559 6.2 11.9 0.4
N daolN 65,919  22.1 58,656 @ 21.5 66,497 = 19.1 12.4 A0.9
o MEXE 144,312 | 48.4 138,574  50.8 186,502 = 53.6 41 N22.6
&l
S EX} 2,352 0.8 2,041 0.7 2,223 0.6 15.2 5.8
2 ey 2,125 0.7 2,125 0.8 13,125 3.8 0.0 2838
LS 2) 16,042 5.4 16,390 6.0 18,329 5.3 N2 A12.5
ofe|H| 27| E} 10,974 3.7 2,053 0.8 5,123 1.5 434 .5 114.2
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2-1. 2IMIZ o2l

Q ut3[A

(chel - syokel %
HE Z2+2(9

T B 201445 - 2013 A = giuH:g(;chm
A 257,717  H|8 227,351 H|S 295,774 | d|g8 13.4 | A12.9
XA 10,840 4.2 10,086 4.4 11,109 3.8 7.5 N2.4
Ao = o 8,121 3.2 15,202 6.7 32,852 11.1 N46.6 | AT5.3
A A5 6,763 2.6 8,072 3.6 6,766 2.3 A16.2 A0.0
AR A AL+ 1,358 0.5 7,130 3.1 26,086 8.8 | A81.0 A94.8
A X gk w2 A 154,228 | 59.8 142,900 62.9 172,506 @ 58.3 7.9 | A10.6
My EANZ 3,000 1.2 3,000 1.3 3,870 1.3 0.0 | A225
g 2 = = 69,065 26.8 56,163 @ 24.7 72,437 | 24.5 23.0 N4T
Eae s 57,617 = 22.4 45,865  20.2 57,445 @ 19.4 25.6 0.3
EH R T 11,448 4.4 10,298 4.5 14,992 5.1 11.2 N23.6
A & M S - = — - 3,000 1.0 | #DIV/0! | A100.0
BEdsdS 12,463 4.8 - - - - | #DIV/0! | #DIV/0!
Ut Il 15,509 6.0 14,996 6.6 27,761 9.4 3.4 N44 A
S EM o 3,582 1.4 3,283 1.4 4,249 1.4 9.1 A15.7
s 2,271 0.9 3,235 1.4 3,444 1.2 | 2298 | A34.1
23t 2t 27,687 10.7 29,173 | 12.8 39,052 13.2 A5 A29.1
A2 17,893 6.9 20,023 8.8 24,087 8.1 A10.6 | A25.7
7| AtElSX| 37,485 145 34,632 152 38,483 13.0 8.2 N2.6
24 3,524 1.4 3,288 1.4 3,579 1.2 7.2 A5
8 S 2ol 24t 47,637 185 39,913  17.6 52,270 | 17.7 19.4 N8.9
2 M EATY 4,901 1.9 4,199 1.8 5330 1.8 16.7 18.0
A TS 8,074 3.1 10,277 4.5 18,385 6.2 A21.4 A56.1
= EYX| oyt 43,247 | 16.8 28,623 | 12.6 43,625 | 14.7 51.1 A0.9
= &7 s - - - - - - | #DIV/0! | #DIV/0!
= of| b 10,920 4.2 2,035 0.9 950 0.3 436.6 | 1,049.5
7| et 34,987 13.6 33,674 14.8 34,559  11.7 3.9 1.2
QlzdH| 32,106  12.5 31,300 13.8 32,305 10.9 2.6 A0.6
=xalll 18,941 7.3 16,468 7.2 18,905 6.4 15.0 0.2
AN ZaolA 64,011  24.8 56,844 = 25.0 64,688 21.9 12.6 A1.0
o EXE 120,493 | 46.8 108,587  47.8 152,311 | 51.5 11.0 | ~A20.9
T sxeax - - - - - - | #DIV/0! | #DIV/0!
2 wrxe 2,000 0.8 2,000 0.9 13,000 4.4 0.0 1846
LS4 2H 9,222 3.6 10,114 4.4 11,511 3.9 18.8 ~19.9
offo|d| 27| Ef 10,944 4.2 2,038 0.9 3,054 1.0 437.0 258.3
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2-1. 2IMIZ o2l

O SEIACIEHS7IY)

He 8%
TE 2014k o = T 5 = etz oy il/%)?—EHHI

Al 40,257 | H|8 45612 @ H|8 52,421 @ H|8 22.1 7.4
XA - - - - - - #DIV/O! | #DIV/0!
Mool = 7,222 2.8 31,792 | 14.0 43,051 | 14.6 10.4 A5
RS Rt 5,999 2.3 5,396 2.4 10,979 3.7 ATT A8.9

AR A A L] 1,223 0.5 26,396  11.6 32,072 | 10.8 15.0 A4.3

Mo xR A - - - - - - #DIV/O! | #DIV/0!
MEEMZ - - - - - - #DIV/O! | #DIV/0!

ol B = 3 7,999 3.1 13,820 6.1 9,370 = 3.2 61.7 53.7
EA o= 7,842 3.0 13,800 6.1 8,883 3.0 70.6 65.2

CH R T 157 0.1 20 0.0 487 02 | 2956 | A96.9

X % M S - - - - - - #DIV/O! | #DIV/0!

H A= el 25,036 9.7 - - - - #DIV/O! | #DIV/0!
detszH - - - - - - #DIV/0! | #DIV/0!
SSEMA N - - - - - - #DIV/0I | #DIV/0!

mE=: 6,994 2.7 6,418 2.8 6,981 2.4 0.1 A0.8

ot pt - - - - - - #DIV/O! | #DIV/0!
BAES 24,693 9.6 31,121 | 13.7 36,970 @ 12.5 35.7 11.7

I AMEIEX| 655 0.3 666 = 0.3 655 = 0.2 9.0 2.9
=24 - - - - - - #DIV/O! | #DIV/0!
° s - - - - - - #DIV/O! | #DIV/0!
2 MeEATY 4,136 1.6 3,808 1.7 3,966 1.3 10.3 4.5
Al +5UME - - - - - - #DIV/O! | #DIV/0!
= ESIX| oyt 1,162 0.5 1,036 0.5 1,241 0.4 A31.6 N25.5

~ sty | = - - - - - - #DIV/0!  #DIV/0!
= of 1| H] - - - - - - #DIV/O! | #DIV/0!
7| et 2,617 1.0 2,563 1.1 2,608 0.9 6.1 4.0
abalcl 2,495 1.0 2,480 1.1 2,532 0.9 6.3 4.3
E=rall 2,708 1.1 2,876 1.3 2,654 0.9 42.8 51.0

N BAoIN 1,908 0.7 1,812 0.8 1,809 0.6 1.6 4.5
o KEXE 23,819 9.2 29,987 @ 13.2 34,191 116 29.8 7.9
S EX} 2,352 0.9 2,041 0.9 2,223 0.8 13.6 A5.0
ERCESPE 125 | 0.0 125 0.1 125 | 0.0 = #DIV/0! 98.4
L 574 i 6,820 2.6 6,276 = 2.8 6,818 2.3 A0.1 A0.8
RIS 30 0.0 15 | 0.0 2,069 0.7 | A37.5 /886
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2-1. N2 F2AIH

(G = E)
Al B} 2014 of Aot e
AL o o = EAIAH| | 7| EX e
Ha (ArHZ12H) el | 2l A 24| | TH|  A|ZH| 7|gp T
EMIsER 71.7km £3H40% 27177 13250 3505 3505 10,422
_ - AMEfZI =AM gl 22
_/I\_ool;— ol_lx X = xl_‘I = o =X O =
- 4,(% ﬂm'? st A=351,890m 175 43 43 132
SEEAE (2013~2015)
~US FEX|F SHA THISH I XHFE
S S 0| AL (2011~2015) 382 30 70 70 282
O =S =HAMY
(L))
2014 of AoH s
AA7H R - = RIS
AP o of ESAMH| | 7| EX
- E (Arez12h) e VI T R PV R
X|SAIM & & Akst SAZ 327km
Aled (2012~2014) 1,655 1,102 553 300 253
HHd e s3S HESY 74,974m
=M (2009-2014) 15900 12,800 3,100 3,100
_ yx O_Tl__?,'__l 2
Mat2sz =4 (’;g;‘gimfifmm 6,850 1,850 2,000 600 280 1,120 3,000
X E A| &+ 2
OIM| M £ A| 5 Y 5} (50‘7 ] 120:1,45)7% 11,030 5880 625 384 38 203 4,525
HESSEA =4 SBEAH A=63,765m 6,000 3,500 2,500 2,500
seoe=T e (2012~2014) ’ ’ ‘ ’
HESIEX H3TL HMelAM 250m /Y
SE RS (2013~2014) 3105 3.105] 3,105
D EX A YA MW L=4.43km
Mo zoya (2014~2018) 30000 1,000 2,000 1,650 350 27,000
SO EZ 2 (Xto|M) L=4.6km, B=8m
Sma (2005~2013) 8843 7,841 1,002 1,002
L=3.0km
AMAETZ 7HA 7712 5962 1,750 200 155
e (2005~2014) 0
- L=5.0km, B=8m
TE 63 IHMEIA ’ : : : : :
63 M THME S AL (2011~2014) 10,000 2,018 1,503 1,503 6,479
A5 ME| S5 3 s
A;P& ! 1= 1447 A5HA 5,000 1,500 1,500 3,500
T e
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(ebl - wjptsl)
gf; jﬁﬁ" Hhstd (;%Ti ?01 ;? 126m 12500 4000 2500 1,500 1,000 6,000
HECIIELETEST (i?i/fofg)m,ooomf 4000 341 700 700 2,959
ASEATATNAIY (i)?ifo?g)? 646m 3400 800 800 800 1,800
Zofo| BlopHal=A (deEE'zgﬁ)l 5,000 1250 1,000 250 3,750
iz@% Hoks (;2(;_4 ﬁi‘i?; S 250 1270 1250 1000 250
Helets 2 =4 (2%0?35501 253““ 2500 625 1875 1521 354
Z;H °l ohEste (Z{)T;‘E'O?S;BOE/ 2 6976 714 2350 1651 347 361 3,903
gflh °l ohEstes (ZETZ“E'O?G‘)‘OOE/ d 6,297 714 500 103 111 5,583
;'E: SESHYTE (;gOT;l;E*O?,?c;oo%/ g s 11200 1,003 1,003 27,098
i;’ ARZ= N (fofj)}{g 217H =t 9,034 9034 5383 3,651
ZEHEs 2eAr $§ gg;ﬁ; E;:f 3000 785 1515 500 775 240 700
X5t HAY (ZLIO?;{ 21(?1' 2) 4360 1500 2,860 1716 229 915
25 Hu|Abed (zi;f 27 1,400 1400 700 700
= Zgojole A (glo'ﬂnfoﬁ';ﬁ 5700 3700 2,000 2,000
TS XA St (;Loiﬂi ‘iﬁg s 2,500 625 1560 1,248 312 315
2712 £EAM 85 (2207 1“ i)t 2,605 2605 2,605
HIM 28 M2l (28?13%20 - 6193 3020 3173 2130 139 904
ME1e] FAEEN &?ﬁ;&%?“omz 2,200 600 600 1,600

2 SAIA 22,000/

HAMS T SEZAl 17,496 2,000 2,000 15,496

(2014~2016)
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